SPH3U7- Projectile Motion Quiz  
(2)
Name:____________        /12
1. Two cannonballs A and B are fired from the ground with identical initial speeds but with 
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.  (2 marks)
a)  Which cannonball reaches a higher elevation?  Explain.
.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

b)  Which stays longer in the air? Explain
.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

2. A stone is thrown horizontally from the top of a cliff with an initial speed v.
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The time of flight of the stone is t and its range R. Air resistance is negligible.


For a stone that is thrown horizontally from the top of the cliff with an initial speed 3v, which of the following is correct?

	
	Time of flight
	Range

	A.
	t
	R

	B.
	3t
	3R

	C.
	t
	3R

	D.
	3t
	R


3. This question is about projectile motion.


The barrel of a rifle is held at an angle  to the horizontal. A bullet fired from the rifle leaves the barrel at time t = 0 with a speed 200 m s–1. The graph below shows the variation with time t of the vertical height h of the bullet.
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 (a)
State the expression for the initial vertical component of speed Vv in terms of the initial speed of the bullet and the angle .

...................................................................................................................................

(1)
(b)
Use data from the graph to deduce that the angle  = 30. (The acceleration for free fall
g = 10 m s–2)

...................................................................................................................................

...................................................................................................................................

...................................................................................................................................

...................................................................................................................................

(3)
4.
An Olympic long jumper leaves the ground at an angle of 23° and travels through


the air for a horizontal distance of 8.7 m before landing. What is the takeoff speed of the


jumper?
.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................

.........................................................................................................................................................
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